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COMPUTER NETWORK

frifa o . dAw®R) [Afrham 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) N o % @4 YT 1 HHAR CF G & Hilord |
Solve all parts of a question consecutively together.
(iii) W F %) 79 78 G IR Fifrd |
Start each question on fresh page.
(v) gl aransil 7 s g el 3 S sgan 8 A 8
Only English version is valid in case of difference in both the languages.

1. () HTTP@ 319 1 THd & ?
What do you understand by HTTP ?
i)y fffeensafmamsnd ?
* What are the different fields of PPP data frame ?
(iii) IPV6FITR ?
What is IPv6 ?
(iv) SHREFTR 7
What is Bluetooth ?
(v) N Hr TR R 7 AR |
What is Congestion Control ? Explain. (2%5)

2. () E-Bead 7 3-Ue dgEmd AR 9 e fafie idies i queey |
What is E-mail ? What are the different protocols used for E-mail ? Explain.
(i) PIFH SRS T ST ZEUIE i H 3R TE HiY |
Differentiate between connection oriented and connectionless transport services.

(6+6)

3. (i) IEEE 802.11 Siriel %I G93sT |
Explain IEEE 802.11 protocol.
(ii) TS FN R ? TSN & fagiai i w9y |
What is routing ? Explain routing principles. : (6+6)
(10f2) P.T.O.
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4. Frferfiga = wwEEe :
Explain the following :
(i) THAML
F.T.P.
(i) e TSt
Multicast Routing
i) A.8A, FEE A

TCP Connection Management

5. @) Ipv4igtz€rdﬁmﬁmamsa%mﬁaaﬁm I
Draw the structure of IPv4 Header and explain each field in it.
(i) giaq‘réamamaaﬁaﬁ«ﬁﬁmﬁmﬁaﬁm l
Explain the various services provided by transport layer.

6 O SRS T SR o B 31 T HIT |
Differentiate between wired and wireless LANSs.
(i) T I TS eI % TS |

Explain distance vector routing algorithm.

7. () CSMA/CD®R? CSMA/CD o oi@ %1 @1 @ ? JHese |
What is CSMA/CD ? How does CSMA/CD works ? Explain.
(ii) fafors srepr Y T Feda i i witm o SHEET |

Explain various types of error detection codes in brief.

Write short notes on following :
() <A o
Token ring
(i) FedreiaRE quT S-weda ufeThTH
~ Multiplexing and De-Multiplexing Application
(i) T
SNMP
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(4x3)

(6+6)

(6+6)

(6+6)

(4x3)




